B #l i =
' X 5 E DI4EE F O M O (B A H ) 14,472,700 M
I = & 5 $325 F EMAE (AN E L &M E) 13,157,000 M
I = £ ETEEEFMAHETIE(1IX) & E H R i & (% A &) 13,280,350 M
I 5 5 KEBHIETYET Eib #R RAE I PR H 4% (A 4L E EEER{EA) 12,073,046 M
AW % A H SH4E8H12H FxEkmE BE—AIE HAITHER HESFUHT
NO e fga  |a—r 2O T BIEAR % =
1| FEARERR (%) WA BE 13,120,000 2
2| (¥k) B2 E% #— 13,150,000| 9
3|(A)IBE TG BHE EE 13,100,000| 1 & HL
4(B)EBAEE EBA EEM 13,140,000| 6
5| KFEEE (FF) THK #=F 13,125,000| 3
6| (A)BMEE Bm iF 13,150,000| 9
7| (%) AR BR E 13,155,000| 14
8| Li#EEE (H) i X# 13,130,000| 4
I=mEEE =E TR 13,135,000 5
10|EHEE =1 13,150,000, 9
11| (3R) {E#RE B 1Hz 13,153,000| 13
12| (A)IBAREE e A 13,145,000| 8
13| FARR 2 E% W BRR 13,150,000| 9
14| REE% (%) o %A 13,140,000| 6

(AFLEL%E 13,100,000 F x 1.1 = 14,410,000 M %iL£%8) HEMRUHAEERRDOEZ 1,310,000 M




B #l i =
' X 5 E DI4EE F O O’ (A H ) 22,473,000 H
I = & 5 $335 F EMAE (AN E L &M E) 20,430,000 H
I = £ ETEEEFMAtHEIE(2IX) & E H R i & (% A &) 20,637,256 H
I 5 5 KEBHIETYET Eib #R B I FRHE (A AL E L ERIEK) 18,761,142 M
AW % A H SF4E8A12H FxEkmE BE—AIE HAITHER HESFUHT
NO e fga  |a—r 2O T BIEAR % =
1| FLEREEER (%) W [E—ER 20,330,000 5
2| FAREER (¥K) wmAE RE 20,300,000 3
3|(BR) BIFHIE #7H IEBH 20,250,000 1 EAL
4|(B)MMHEIEE Bl &X 20,350,000f 9
5((B)EILESE AUESI-TPS 20,330,000| 5
6| K F K (k) THK #=F 20,350,000| 9
7| (B HBITE Bm & 20,350,000f 9
8| (¥R) FEA &= BX E 20,280,000 2
9| LHIEEE (F) i X# 20,380,000( 12
10| = EEE =E T 20,400,000( 13
| EFEE =1 20,330,000| 5
12| (%) fE#RHE B 1Ez 20,320,000 4
13| HFIE (¥) HF BiE 20,400,000| 13
14| (%%) 1152 N3 pEsE 20,330,000| 5

X 1.1 = 22,275,000 F %Z4£%8)

HEBRRUM A HETROE 2,025,000 M




B 5 =
' X 5 E DI4EE F O O’ (A H ) 14,627,800 M
I = & 5 $34E5 F EMAE (AN E L &M E) 13,298,000 M
I = £ ETEEEFMAtHEIE(3IX) & E H R i & (% A &) 13,423,060 M
I 5 5 KEBHIETYET Eib #R B I FRHE (A AL E L ERIEK) 12,202,782 M
AW % A H SF4E8A12H FxEkmE BE—AIE HAITHER HESFUHT
NO e fga  |a—r 2O T BIEAR % =
1| (%) EIHEIE ##7H IEBH 13,210,000 2
2| (%) LHEH E% #— 13,250,000 4
3|(A)IBE TG EH B= 13,250,000| 4
4(B)EFEH EA ZER 13,240,000 3
5| RHAIRERR () =H R 13,290,000| 11
6| KRFEEE (FF) THK #=F 13,290,000| 11
7| (B HBITE Bm iF 13,270,000| 8
8| (4%) BRI BX E 13,255,000| 6
9| LS (AH) i X# 13,295,000 13
10| = EEE =E T 13,280,000 10
H|EHEE =1 13,255,000 6
12| (%) fE#RHE B 1Ez 13,270,000| 8
13| (B BAZEE BA 8k 13,200,000| 1 EAL
14| (B BEIREE R @ 13,295,000/ 13

=
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(A¥L£%F 13,200,000 F x 1.1 = 14,520,000 M ZEi.£%8)

HERRUM A HETROEE 1,320,000 M




B #l i =
' X 5 E DI4EE F O O’ (A H ) 14,701,500 M
I = & 5 $3I55 F EMAE (AN E L &M E) 13,365,000 M
I = £ ETEAR LRI RIE(FTN4FEE) & E H R i & (% A &) 13,171,215 [
I 5 5 KEBHIETYET Eib #R RAE I PR H 4% (A 4L E EEER{EA) 11,973,832 M
AW % A H SH4E8H12H HixEkiE TR—AKTE HAITHER HESFUHT
NO e fga  |a—r 2O T BIEAR % =
1| FLEREEER (%) W [E—ER 13,310,000{ 2
2|(#R) EIFHEIE ##7H IEBH 13,330,000 4
3| LFEEE (A) iR X# 13,340,000| 6
4| (%) EREEER I #I E7 13,360,000 12
5| RHAIRERR () =H R 13,325,000| 3
6| (¥8) 1132 N3 pEsE 13,355,000| 11
(BB IEE Bl &X 13,340,000| 6
8| (B)IBH L& BE EE 13,300,000 1 &L
I=mEEE =E TR 13,335,000 5
10| (A)IBEAREE e A 13,345,000| 8
N|EExRGEA) B L 13,350,000| 9
12|(A)EHESIIE il 83X 13,350,000| 9
13| (BR) AR H BX E 13,365,000 13
14| (%) BERTEREEE HITUXZIE | FK E—H R

= p m——y p— =

(AFLEL%E 13,300,000 FH x 1.1 = 14,630,000 M % iL£%8) HERMRUHAEERROE 1,330,000 M




B #l i =
' X 5 E DI4EE F O O’ (A H ) 4,920,300 M
I = & 5 $365 F EMAE (AN E L &M E) 4,473,000 M
I = £ FEEERHRRERRBISE & E B R i & (% A &) 4,400,799 M
I 5 5 KEBHITYET FHEIL HA B FRHE (A AL E L BRIEK) 4,000,727 H
AW % A H SF4E8A12H HixEkiE TR—AKTE HAITHER HESFUHT
NO e fga  |a—r 2O T BIEAR % =
1|(B)BHER EA EZER iR
201(B)EHEHRITX =H K iR
3|{(A)HEILER B E& 4,040,000| 1 EAL
4% 1L E K (BR) = Bk R
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6|(B)robEXE By EA 4,040,300| 2
I BEEEIXE A sk ZiE
8| (kk) 1B HE B Hz R
o| (¥R) KT ILK—H ¥R EE R
10| KR F R (¥F) THR #= R
RIE3E5:4¢)) o xA R
12| (B) BIMEs% B 1% R
13|(A)MTHEIEE Bl #X 4,470,000/ 3
14|BEX (A) B 1 R

2

(A%LEL%5 4,040,000 F x 1.1 = 4,444,000 F %iL£%8)

HERRUMAHETROE 404,000 M




B #l i =
= X F E DI4EE F O O’ (A H ) 4,975,300 M
Z i F 5 $255 F EMAE (AN E L &M E) 4,523,000 M
% it £ BT E WA AT R R AR K ot SR 2 R ET R B R = K Fl R fli & (% & &) - H
£ & B A KEBHIETYET Eib #R B I FRHE (A AL E L ERIEK) - H
AW % A H SF4E8A12H HiExTE i = HAITHER HESFUHT
NO e fga  |a—r 2O T BIEAR % =
1|EMBE(H) HITYEXERR AT Bk 4,400,000 5
21(B)aYHBE HIFYEEFR Bk B|HE 4,400,000 5
3| TAAVHILEUL HSEFYEBERR | ARHA EHE 4,450,000| 13
4|{(R)EaY ANBE-BREXIE INEE 4,380,000| 3
5|(B)ERAEEE HhFVEER| =R RE 4,450,000| 13
6| (B BRAEFZ AT HSETYEEF | MHE K= 4,420,000| 10
WNWEINIUTSY HIFYEER| TE #2 4,410,000 9
8|MEILHILAUN (B) HEFYEERR| HE AR 4,400,000 5
9| (B) RBHERET HSFYEXRT NTTIE B 4,370,000 2
10|(BR) & HEITFYEERR wea 1EF 4,430,000 12
11U ORI =EERET WA FXR 4,300,000 1 & HL
12| () K H LBV HEAFYEERR| FIE =E— 4,380,000, 3
13| AR EHRE () HIFYEER B2R F 4,420,000| 10
14|AL 1R 2 5% 5T i = 4,400,000 5

2

(A%L£%F 4,300,000 F x 1.1 = 4,730,000 F % iL£%8)

HERRUMAHETFROE 430,000 M




B #l i =
' X 5 E DI4EE F O O’ (A H ) 2,943,600 M
Z i F 5 $265 F EMAE (AN E L &M E) 2,676,000 M
% it £ ETEEEFMAhRE T EEEEBRR = K &l R i 8 (% A &) - H
£ & B A KEBHIETYET Eib #R B I FRHE (A AL E L ERIEK) - H
AW % A H SF4E8A12H HiExTE EERR HAITHER HESFUHT
NO e fga  |a—r 2O T BIEAR % =
1| BEERRRAMG HSTYRLR | A B 2,650,000 5
EI=EaESTN A Bhx 2,570,000| 1 EAL
S|MEATE LN —MEELEHA| HE BE R
4| (B) LINERETE T i s 2,676,000/ 10
5|A—IT—arHILEVE () R FZ 2,650,000f 5
6| () NEEEFRTEH AH FE 2,600,000 2
1B OREEREH BO ®X 2,670,000/ 9
8|iIFEET L& Ay AR 2,650,000| 5
IBELTEHBILEILEN thfE SF 2,650,000| 5
10| A REESHM AR E 2,630,000 4
1| A GRHBEEERER ARHE Bt 2,610,000 3

2

(AFLEL%E 2,570,000 FH x 1.1 = 2,827,000 @ %iL£%8) HERMBRUMAEEROEZ 257,000 M




B #l i =
= X F E DI4EE F O O’ (A H ) 759,000 M
ZF 82 & B $215 F EME (AL E MK 690,000 M
% it £ BEERKEREKERKERET (REIES) = K fl R fli & (% A &) - H
£ & B A KEBHITYET RHER HQA B FRHE (A AL E L BRIEK) - H
AW % A H SH4E8H12H HiExTE TRIAHIL HAITHER HESFUHT
NO e fga  |a—r 2O T BIEAR % =
1|EMBE(H) HITYEXERR AT Bk 680,000( 10
21(B)aYHBE HIFYEEFR Bk B|HE 680,000( 10
3| () M H LB HEFYEERR| BA M= 650,000 1 &AL
4|(BR)TAAVHILEUL HSEYEBER | ARHA &HE 660,000 2
5|(B)ERAEEE HhFVEER| =R RE 675,000[ 8
6| (B BRAEFZ AT HSETYEEF | MHE K= 680,000( 10
NWEINDUTIY HSEYEER| T B2 670,000, 3
8| (B) RS HIZTUEXM N TTIE H 675,000[ 8
I (BRI NE HIFYEXRR wea 1EF 670,000[ 3
10|lL ORI ZE 8% 5T o R 670,000 3
1| () K H LAV HEAFYEEFR| FIE =E— 670,000[ 3
12|TEARAERE (B) HIFUEER =R & 670,000 3
13|AL IR 2 5% 5T i = 680,000( 10

(A%L£%E 650,000 0 x 1.1 = 715,000 M %f.£%8)

HEBRRUMAEETOE 65,000 M




B #l i =

' X 5 E DI4EE F O O’ (A H ) 1,292,867 M
E H B 5 245 F EMAE (AN E L &M E) 1,175,334 M
i R £ BITREHSBREA & K &l B i & (% A & ) - H
m A B KEBHSTVE SRERELV 22— A IE IR HE (A AL E L EREK) - H
AW % A H SF4E8A12H HiExTE ERARERE HAITHER HESFUHT

NO e fga  |a—r 2O T BIEAR % =

1| (BR) FE B2 & sl —= 1,175,000 2

2| (A)OAV AT LER FE mF 1,298,000| 3 F 7E i 8 @

3| (¥R A HER A Seif R

4 RMERSE K1t AF RE 1,100,000| 1 &L

S5|BXEHUVYATAHIVEREER | thE 2AF 2

— — —
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(AFLL%E 1,100,000 FH x 1.1 = 1,210,000 M %L £%8) HERMRUHAEEROEZ 110,000 M




B FL o &
= X F E DI4EE F O O’ (A H ) 1,276,000 M
E K & B 255 F EME (AL E MK 1,160,000 M
i ah £ B EnfARs X priEEN 2% (AED) BEA = K Fl R i & (% A &) - H
m A B REMHIETYET £ #R B I FRHE (A AL E L ERIEK) - H
At &F A A SF4E8A12H HiExTE ERARERE AT HITYHET
NO e fga  |a—r 2R T BIEARL % =
1|HPESR Mg EA 892,000[ 3
2|ALSOKHEA (#k) B2 BE R
3| (k) Fa—auk CE I iR
AFREERRE(RR) RBEARX AE EA iR
5| (%) BB ZE sl —= 920,000 4
6| R EESFE KA AF RE 1,040,000 5
THEEHUYYATAHIIVEREER | thE 27 2
8| (A)OAV AT LER FE mF 850,880| 2
9| (¥R) A HER A Seif iR
10|zaL () ANEEHFAT hE —ER 770,400| 1 EAL

HEBRRUMAEETOEZ 77,040 H




